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Industrial Economics

Time : Three hours Maximum Marks : 40
Minimum Marks : 14

Note : &) g3 fvard 2 | e @oe ¥ MuifRd 3 <9u U ¢ |

All Questions are compulsory. Allotted marks are shown in each
Section

9gug ‘3’ Section 'A’

TS g

Objective Type Questions
1x6 =05

Q.1 el IR YT —
Choose the Correct Answer -
(i) IRARNTT G & IR B Udh—
According to Traditional Theory the firm is a-
(a) 519 SbIs  Labour Unit (b) USiT Sdlg  Capital Unit

(c) ThIdI SHIs Technical Unit

(d) STRIGd ¥ | dIs Aal  None of these

(i) fa9IY &= § W W SN & SMHAd 8 IR s I8+
AT G ST @1 UGl Bl ATelfd RGO HEd & I8
gRTeT fheaa! 8—

'Localization is the propensity of particular industries to cling,
breed and cluster around particular locatities'. This defination

is given by -

(a) U <A Prof. Robertson (b) U1 AR Prof. Loknath
(c) WL YET  Prof.Shubin  (d) UL Bicta  Prof. Culborn
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(i)

(iv)

Q.2

-92.

G Heg (HURO &1 ARTT—4 3fal Hld 39 Yoo R bl
g gfdafed fbar &

Cost plus an markup pricing theory of product pricing is postulated up-

(a) IScM Ud Uold Hicks and Alen
(b) SIF U €Y John F. Due

(c) BT ug f2= Hall and Hitch

(d) SWJad H Py 2l None of the above

=1 % | ®F IATCHAT DI AT BT GI 8-

Which of the following is the formula of measuring productivity-

(@) IHUIGDdT (P) = Bl IUTGDhdl (O) /UGFd ATE (1)
Productivity (P) = Total Productivity (O)/Used resource (l)

(b) IATEDT (P) = UZdd HET (I) /Rl SATchdl (O)
Productivity (P) = Used resource(l)/Total productivity (O)

(c) SUEHAT (P) = Yg IUTGA (O) / SHBI B F=AT (M)
Productivity (P) = Net product (O)/Number of workers (M)

d) Sudad H ¥ PIs A8 None of Above

IRA H fazgamdiexer & IR &= arell dcd &—
Which of the following factor fosters globalization in India.

(a) dH-Ifdp TRIAT Technical Changes
(b) IR _ Competition
(c) SerRaral ifar Liberalization Policies
(d) Suga All of Above
9usg ‘4" Section 'B’
oY SN g

Short Answer Type Questions

2x5 =10
JMERAROT BT IR Bl THSSU |

Explain the concept of industrialization.
VFkok OR
e fawrT &1 a1 9419 ughndl 9agy |

Explain two new trends in Industrial development.
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Q.3

Q.4

Q.5

Q.6

Q.7

-3-
BHH B TR B FHSIEY |

Explain the concept of a firm.
34T OR

ol & &) Q1 Revan gared |

Explain two features of private sector.

SdTe TANSIHRT R=IT 8?7 W Y |

What is product differentiation? Explain.
34T OR

HH ® & 3a3 Iy |

Explain two objectives of firm.

B Dl Bl W Glera femoft forfay |

Write short note on efficiency of the firm.
34T OR

N BordT & T AT 87

What do you mean by Industrial sickness?

airenfires gferifirar & aR9iYa Iy |

Define Industrial Competition.
34T OR
HH ® SMHR &7 3N garsy |

Explain the meaning of the size of firm.

Yus ' Section 'C'
4" S 9E=
Long Answer Type Questions
5x5 =25
IRA H g SieEfiie e @ Uiy Ud qrd dal df
AHLATRY |
Explain the factors favoring and hampering rapid industrial
development of India.
4T OR
RO & JITdl Bl FHSMSY |

Explain the impact of Industrialization.
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-4 -
Q8 BH & WIS hI AHSIEY |

Explain the organization of firm.
34T OR
FSTTRROT T AEw Bl A |

Explain the importance of privatization.

Q9 YNd ¥ SN &1 d8d FasISY |
Explain the importance of industries in India.
34T OR
e fewol faRau (@1g <)
Write short note on (any two)
() BTG HeI MERUT  Product pricing
(i) ®H &I = Control of the firm
(i) gfafee @1 2rd Entry conditions (Firm)

Q.10 doTR Ud SAD IIhRI] Bl AHSILY |

Explain market and its classification.
JAdT OR
AT FART & RAFIHI0T & NG Dl T |

Explain the Sargent Florence theory of industrial location.

Q.11 IETEHAT &I IJTIROM TG AT B FASMSY |
Explain the concept and measurement of productivity.
314dr OR
TRAT ST # Nenfie ygfral & wHsgd |

Explain the Industrial trends in Indian Industry.
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